

## Adding Integers (C)

Use an integer strategy to find each answer.

$43 + (-14) =$

$(-25) + 72 =$

$8 + 56 =$

$92 + 39 =$

$39 + 44 =$

$(-15) + (-51) =$

$(-52) + (-35) =$

$(-31) + 83 =$

$(-85) + 9 =$

$(-52) + 66 =$

$(-35) + (-63) =$

$40 + (-52) =$

$(-95) + 73 =$

$19 + 30 =$

$80 + (-62) =$

$(-70) + (-16) =$

$(-10) + 24 =$

$12 + (-61) =$

$(-65) + 7 =$

$66 + (-55) =$

$87 + (-64) =$

$(-71) + (-89) =$

$(-29) + 79 =$

$19 + (-68) =$

$(-6) + 97 =$

$(-79) + 88 =$

$22 + 57 =$

$80 + (-57) =$

$10 + (-20) =$

$47 + (-66) =$

# Adding Integers (C) Answers

Use an integer strategy to find each answer.

$$\begin{aligned} 43 + (-14) &= \\ &= 29 \end{aligned}$$

$$\begin{aligned} (-25) + 72 &= \\ &= 47 \end{aligned}$$

$$\begin{aligned} 8 + 56 &= \\ &= 64 \end{aligned}$$

$$\begin{aligned} 92 + 39 &= \\ &= 131 \end{aligned}$$

$$\begin{aligned} 39 + 44 &= \\ &= 83 \end{aligned}$$

$$\begin{aligned} (-15) + (-51) &= \\ &= (-66) \end{aligned}$$

$$\begin{aligned} (-52) + (-35) &= \\ &= (-87) \end{aligned}$$

$$\begin{aligned} (-31) + 83 &= \\ &= 52 \end{aligned}$$

$$\begin{aligned} (-85) + 9 &= \\ &= (-76) \end{aligned}$$

$$\begin{aligned} (-52) + 66 &= \\ &= 14 \end{aligned}$$

$$\begin{aligned} (-35) + (-63) &= \\ &= (-98) \end{aligned}$$

$$\begin{aligned} 40 + (-52) &= \\ &= (-12) \end{aligned}$$

$$\begin{aligned} (-95) + 73 &= \\ &= (-22) \end{aligned}$$

$$\begin{aligned} 19 + 30 &= \\ &= 49 \end{aligned}$$

$$\begin{aligned} 80 + (-62) &= \\ &= 18 \end{aligned}$$

$$\begin{aligned} (-70) + (-16) &= \\ &= (-86) \end{aligned}$$

$$\begin{aligned} (-10) + 24 &= \\ &= 14 \end{aligned}$$

$$\begin{aligned} 12 + (-61) &= \\ &= (-49) \end{aligned}$$

$$\begin{aligned} (-65) + 7 &= \\ &= (-58) \end{aligned}$$

$$\begin{aligned} 66 + (-55) &= \\ &= 11 \end{aligned}$$

$$\begin{aligned} 87 + (-64) &= \\ &= 23 \end{aligned}$$

$$\begin{aligned} (-71) + (-89) &= \\ &= (-160) \end{aligned}$$

$$\begin{aligned} (-29) + 79 &= \\ &= 50 \end{aligned}$$

$$\begin{aligned} 19 + (-68) &= \\ &= (-49) \end{aligned}$$

$$\begin{aligned} (-6) + 97 &= \\ &= 91 \end{aligned}$$

$$\begin{aligned} (-79) + 88 &= \\ &= 9 \end{aligned}$$

$$\begin{aligned} 22 + 57 &= \\ &= 79 \end{aligned}$$

$$\begin{aligned} 80 + (-57) &= \\ &= 23 \end{aligned}$$

$$\begin{aligned} 10 + (-20) &= \\ &= (-10) \end{aligned}$$

$$\begin{aligned} 47 + (-66) &= \\ &= (-19) \end{aligned}$$